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1510 }EHD L BT 0 736
1520 HEH T ET 0 673
1530 HEHNFTHET 0 354
1540 KtZFHT 0 508
9999 HEMNE X &t 0 2271
2010 Z B RHET 0 201
2020 % EFEHT 0 285
2030 L0AT 0 19
2040 ;ET—TH 0 207
2050 ;METZ=TH 0 181
2060 #5 FEHT 0 47
2070 F=xET—TH 0 240
2080 FRETZTH 0 189
2090 TigHT 0 1615
2100 HhiLHET 0 268
2110 HEHIFRET—T B 0 242
2120 HEHIFRBET =T B 0 263
9999 £ ERXEt 0 3757
2510 FUEHET 0 2087
2520 Sk EEHET 0 1341
2530 =/NRHET 0 377
2540 Hi5HET 0 407
2550 ;HhHET 0 250
2560 & &7 0 880
2570 K &MY 0 92
9999 MERXET 0 5434
3010 K#THT 0 908
3020 L IHT 0 931
3030 Lt EFHT 0 792
3040 T FE LHT 0 137
3050 TR T 1 1982
3060 TR THT 0 453
3070 THEFEHT 0 451
3080 HHHhHT 0 391
3090 HHERHAT 0 401
3100 HhFEHET 0 501
3110 HepILHET 0 398
9999 /\FE&X &t 1 7345
3510 2R LHT 0 178
3520 2[R dufT 0 336
3530 2R THT 0 942
3540 ZF= R AKHT 0 358
3550 AHrHT 1 760
3560 &= FERAT 0 274
3570 = T FafT 0 759
3580 F|LIFrHET 1 552
3590 jEHT 0 7
9999 = HKXET 2 4166
4010 EUJ11NHET 0 328
4020 {EESHT 0 92
4030 15T 0 253
4040 SHEAHT 0 198
4050 7K EHT 0 438
4060 E=Z HAT 0 365
4070 Jt[RHET 0 169



XKH24. 7 IF REARBIREZD—IREIZKYNEANEZEDH-AO
[H29.10.31IRE )ITEET & (K=F) Bl E#sEIA O (5B)

TEET (XF)2—F TIRET (KF)4 100 AOEt

4080 = ;T ;HiHET 0 230
4090 R e AT 0 339
4100 FFFOMET 0 135
4110 JbFFOET 0 158
9999 £ RIBXET 0 2705
4510 AR EE—ZFHET 0 741
4520 EREE — FEET 0 176
4530 EREE=FMT 0 152
4540 EREEPUFET 0 117
4550 EREE R FEHT 0 119
4560 AR /NEET 0 68
4570 EREE-LFHHT 0 108
4580 AREE/\FEHT 1 86
4590 EREE N FEHT 0 99
4600 EREE-+FHET 0 100
4610 AR+ —HHET 0 127
4620 EREE+ — FKHET 0 203
9999 ARERXET 1 2096
5010 RBF0 A HEET 0 189
5020 RBFNBAEAHET 0 157
5030 REFORE]{ZHT 0 186
9999 RBFNIX &t 0 532
5510 wh R HT 0 226
5520 = HhHT 0 593
5530 7= HT 1 440
5540 T EEHT 0 252
5550 EFHET 0 7
9999 =R X 5t 1 1582
6010 [E]ET/NER 0 98
6020 [z ET A 0 122
6030 FEIET &I 0 87
6040 ERZEIFMT 0 218
6050 JI|EETER 0 156
6060 JI| AETF 0 126
9999 FEERXET 0 807
6510 B &= A#HGAET 0 22
6520 HZEAKIEHT 0 192
6530 B E A HHET 0 113
6540 HEALLTHT 0 165
6550 B &AM 2 RHET 0 82
6560 HZEAEILHT 1 127
6570 B E A RIHET 0 133
6580 HZEAEHT 0 7
6590 HEAKHET 1 36
6600 B &= A G T 0 73
6610 HEA LFGHET 0 51
6620 HZE A FGHET 0 33
6630 HZE AT FGHET 0 86
6640 B EA EitiHlT 0 39
6650 B ZASET 0 3
6660 HZAERHT 0 15
9999 HEARKET 2 1241
7010 Z B MO ET 0 161
7020 — RAHT 0 258
7030 — R FR#AHT 0 96
7040 — R T KEFHT 1 202
7050 — R ¥7 H I ET 0 115
9999 — R XEt 1 832



XKH24. 7 IF REARBIREZD—IREIZKYNEANEZEDH-AO
[H29.10.31IRE )ITEET & (K=F) Bl E#sEIA O (5B)

TEET (XF)2—F TIRET (KF)4 100 AOEt

8011 IRAHETFGHERLY 0 63
8012 IRAETFHERA 0 139
8013 IR AHET AR (& 0 79
8021 RAHTIEKLY 0 84
8022 RAHTEKA 0 6
8023 R AHETIEKIE 0 4
8031 JAHBTH ALY 0 148
8032 IRAHETH A A 0 14
8033 IRABTH AL 0 26
8041 R AHTHLIFL 0 67
8042 IR AHTELIRA 0 35
8043 IR AHT LT & 0 15
8044 IR AHTHGIFIZ 0 26
8045 IR AHTELIFIF 0 40
8050 IRAHTIRA 1 149
8060 IR AHTFTHA 0 128
8070 JRAMBTER 0 116
8080 IR AHT kA 0 50
8090 I AHT HEE 0 52
8100 JAHETH /IR 0 12
8110 I AHT)II 55k 0 33
8120 IR AHTEEM: 0 81
8130 YRAHTH L 0 81
8140 IRAHTEFRT 0 133
8150 IRAHTEF XK L 0 92
9999 AKX EH 1 1673
9010 +FTHTKEH 0 576
9020 FTHTHE E AL 0 368
9030 FTHT#H&H 0 1131
9040 FTHTHEIH 0 1296
9999 F TRt 0 3371
9110 SERT T HIE 0 501
9120 $ZETH L 0 237
9130 SERTH E 0 160
9140 $EET T4t 0 419
9150 $ZET 45 0 487
9160 SZETEE+T 2 727
9170 $ERTRNH 0 899
9180 #RETEE 1 548
9190 $ERTZ A 0 213
9200 £=HT FF U 0 231
9210 $ERT=H 0 402
9220 $ERTMIH 0 580
9230 SEHET B M 0 651
9240 FERTIE R 0 281
9250 FEETALFrith 0 563
9999 FERXET 3 6899
9310 EFFHTAR 0 214
9320 HFZHATIL 0 259
9330 H[GHET/NE 0 172
9340 E[5HTE 0 397
9999 RFRXEH 0 1042
9410 RET T & 0 406
9420 RHETHHE 0 242
9430 RETER 0 166
9440 RHETAEF 0 16
9450 RETHE[R 0 22
9460 RET{_HE 0 37



XKH24. 7 IF REARBIREZD—IREIZKYNEANEZEDH-AO
[H29.10.31IRE )ITEET & (K=F) Bl E#sEIA O (5B)

TEET (XF)2—F TIRET (KF)4 100 AOEt

9470 RETER 0 8
9480 RETHER 0 68
9999 RIXXEt 0 965
99999 M &ET 15 60062



